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a=int(input("BBeaute cTopoHy b"))
a=int(input("sseauTe cTopoHy a"))

P:(a+b)*2;
print("P=",P);




APUOMETUHECKUE ONEPALIUA

AeneHue ¢ OCTaTKOM

LlenounucneHHoe aeneHue




LUE/IOYUCNEHHOE
NENEHUE

/]



NMPUMEP

5// 2=2

CamocroaTenbHO HanauTe:

5//3= 1

6//2= 3

7//7= 1




AENEHUE C OCTATKOM

%




NMPUMEP

5 % 2=1

CamocroaTenbHO HanauTe:

S5%3= 2

6%2= 0

7%3= 1




NMPUMEP

(5% 2+4)*4-6 [/ 2*2=?




NMPUOPUTET APUGMETUYECKUX ONEPALIUNA

BbinonHAIOTCA onepauun BHYTPU
CKOBOOK

* I %




NMPUMEP

1 2 36 4 5
(5% 2+4)*4-6 [/ 2*2=14




HAWAWUTE 3HAYEHMUE BbIPAXXEHUA:

2-13 % 7/3=

14 // 3*2=

N 0 O

19 %5 //2=

12 % 7 +2=

20% 7=

= 1<) ~J

30//7 -3=

(4+5)-6 / / 3=

~J










